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∫ ∫

D

cos(x sin y) dxdy. {(x, y) | 0 ≤ y ≤ π , |x| < y} megzd `ed D xy`k-petd ly ilniqwnd jxrd z` z`ven ,p iaeig xtqn ozpda ,xy` Matlab -a divwpet aezk .5divw
f(x) =

x + 3

1 + 4 sin2 x + px2divwpetd ly sxbd ly hehxy riten `ad 
enra .6
f(x) =

x + 3

1 + 4 sin2 x
− 2wei
 zextq 20-l `evnl Maple -a zeni`znd ze
ewtd z` aezk .−π ≤ x ≤ π rhwaze
ewpa f ly mikxrd z` mb aygl yi .f(x) ly zeihixwd ze
ewpd z`e miyxeyd z`.zeihixwd



'a wlgdivwpetdy jk a, b, c mireaw `evnl Maple -a ynzyn ziidy ze
ewtd z` aezk (`) .1
f(x) =

{

e−
1

2
x 0 ≤ x ≤ 4
1

a+bx2+cx4 x > 4.x = 4 -a zetivx od f ′′(x) mbe f ′(x) mbez`vene ,p iaeig xtqne ,x lr ielz `edy z iehia hlwk zlawn xy` dxe
vext aezk (a)divwpetdy jk a, b, c mireaw
f(x) =

{

z 0 ≤ x ≤ p
1

a+bx2+cx4 x > p.x = p -a zetivx od f ′′(x) mbe f ′(x) mbe? ielz df dn lr ? gilvz 
inz dxe
vextd ,jzr
l ,m`d (b),(libxk ,xehwee ly dxeva) p(x) mepilet hlwk zlawn xy` Matlab -a divwpet aezk (`) .2z` zaygne ,a < b mr ,a, b miiynn mixtqn ipye
∫

b

a

p(x)dx.polyval d
ewta `le quad d
ewta `l ynzydl oi`if` ,p(x) = q(x) oday x ze
ewp izy zegtl yi , p(x), q(x) minepilet ipy xear ,m` (a)zeidl q -l p oia ghyd z` mixi
bn
∫

x+

x
−

|p(x) − q(x)|dxly ilniqwnd jxrd `ed x+ -e ,p(x) = q(x) eay x ly ilnipind jxrd `ed x− xy`kozip .minepilet ipy oia ghyd z` aygl Matlab -a divwpet aezk .p(x) = q(x) eay xoi` la` ,p(x) = q(x) oday x ze
ewp izy zegtl yiy xnelk ,x
ben ghydy gipdl.quad d
ewta ynzydl



dxeva ,Q = {Q1, . . . , Qm} -e P = {P1, . . . , Pn} ,ze
ewp ly zeveaw izy Maple -a zepezp .3zeniyx ly zeveaw ly
P = {[x1, y1], [x2, y2], . . . , [xn, yn]} -e

Q = {[X1, Y1], [X2, Y2], . . . , [Xm, Ym]}

Maple -a ze
ewt aezk.ilniqwn wgxn mdipia yi xy` Q -a d
ewpd z`e P -a d
ewpd z` `evnl (`).ilnipin wgxn mdipia yi xy` Q -a d
ewpd z`e P -a d
ewpd z` `evnl (a)xagle ,Q ly ze
ewple P ly ze
ewpl mipey mirav mr ,ze
ewpd lk z` sxb lr xiivl (b).mixyi mieewa 'a-e '` mitirqa z`vny zebefd oia


